
Acertijo A

M
i núm

ero
es m

ayor
que 50.

Acertijo A

M
i núm

ero
es m

enor
que 75.

Acertijo A

M
i núm

ero
tiene 6

decenas.

Acertijo A

M
i núm

ero
es 45 + 17.

Acertijo B

M
i núm

ero
tiene 5

unidades.

Acertijo B

M
i núm

ero
es m

enor
que 50.

Acertijo B

M
i núm

ero
es m

ayor
que 20.

Acertijo B

M
i núm

ero
es 20 + 25.
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Acertijo C

M
i núm

ero
es m

enor
que 40.

Acertijo C

M
i núm

ero
es m

ayor
que 20.

Acertijo C

M
i núm

ero
tiene 3

decenas.

Acertijo C

M
i núm

ero
es 60 - 30.

Acertijo D

M
i núm

ero
es m

ayor
que 90.

Acertijo D

M
i núm

ero
es m

enor
que 120.

Acertijo D

M
i núm

ero
tiene 10
decenas.

Acertijo D

M
i núm

ero
tiene 13

unidades.
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Acertijo E

M
i núm

ero
está

form
ado por

decenas.

Acertijo E

M
i núm

ero
es m

enor
que 60.

Acertijo E

M
i núm

ero
es m

ayor
que 30.

Acertijo E

M
i núm

ero
es 80 - 40.

Acertijo F

M
i núm

ero
tiene 7

unidades.

Acertijo F

M
i núm

ero
es m

enor
que 70.

Acertijo F

M
i núm

ero
es m

ayor
que 40.

Acertijo F

M
i núm

ero
es 29 + 28.
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Acertijo G

M
i núm

ero
tiene m

ás de
5 decenas.

Acertijo G

M
i núm

ero
tiene m

enos
de 8

decenas.

Acertijo G

M
i núm

ero
tiene 9

unidades.

Acertijo G

M
i núm

ero
es 59 + 20.

Acertijo H

M
i núm

ero
tiene m

ás de
1 decena.

Acertijo H

M
i núm

ero
tiene m

enos
de 4

decenas.

Acertijo H

M
i núm

ero
tiene 6

unidades.

Acertijo H

M
i núm

ero
es 18 + 18.
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Acertijo I

M
i núm

ero
tiene m

ás de
4 decenas.

Acertijo I

M
i núm

ero
tiene m

enos
de 10

decenas.

Acertijo I

M
i núm

ero
está

form
ado por

decenas.

Acertijo I

M
i núm

ero
es 90 - 40.

Acertijo J

M
i núm

ero
tiene m

ás de
10 decenas.

Acertijo J

M
i núm

ero
tiene m

enos
de 12

decenas.

Acertijo J

M
i núm

ero
tiene 5

unidades.

Acertijo J

M
i núm

ero
es 15 m

ás
que 100.
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